Sheet

LE-151S/151SU/ 152S / 152SU

When punping solutians, meke certain that all tubing is searely attached to the fittings. Tt is recomended that tubing ar pipe lines be shielded to prevent possible
Note: See parts list far materials of constructiaon

A. INSTALLING INJECTION CHECK VALVE

1 The purpose of the injection check valve is to prevent
beckflow fram the treated lire.

2. A1/2" NPT famle fitting with sufficient degpth will acospt
the injection deck valve.

3. T insre axrect seating of the ball inside the injection
deck valve, the injection dheck valve should be installed
uowerds (vertically) into bottan of the pipe.

B. CONNECTING DISCHARGE TUBING

NOTE:
Qit tubing to lagth nesded far discharge lire.

1 Route tubing fran the injection check valve to the metering
pap, meking sure it does not touch hot ar sharp surfaces,
a is bat so sharply thet it kirks.

2 Slice the srell ad of the copling nit oo tubing.

3 Slice the lay, straight ed of the femile anto tbing sich
that tubing exits at the aae shaped ed of the femuile.
4 Tnsert tubing into the valve housing so that tubing butts up
apinst valve hossing and will not go any further.

5 Slice ferrule doan so that the axe shaped ed fits sugly
into valve hossing.

6 Slice the copling nut to the threads and engage. While
pushing the tubing into valve housing, tighten the coupling
it by hard wntil tibing is held seorely in place.

EXCESSIVE FORCE WILL CRACK OR DISTORT FITTINGS.
DO NOT USE PIPE WRENCH.

C. CONNECTING SUCTION TUBING

1 Qi swction tihing to a length so that the foot valve hangs
just above the bottam of the solution oontainer. Maximm
recawrended vertical suction lift is 5 ft (1.5 m).

D. PRIMING

1 Qorect pressure relief tibing to pressure relief port an
the for function valve.

2 Rouate tubing to solution reservoir and andar with a
plastic tie. Do not starere thing in solution.

3 Start pmp. Set at 80% speed and 100% stroke.

4 Pull on Pressure Relief kb (red ar black kndb), holding
rebm tuaing.

5 The purp is now primed.

NOTE:

(@) RAnp is mmally selfqiming if suction 1ift is ot
mxe than 5 ft (1.5 m), valves in the pnp are wet with
water (punp is shigeed fram factary with water in pap
heed) ad the above stes (D. Priming ) are followed.
(b) If the pnp does ot self prime, ramwve discharge
valve housing ad ball ad por water ar solution
slowly into discharge part wntil heed is filled. Follow
s D. Priming taeafte.

E. DEPRESSURIZING DISCHARGE LINE

1 Tt is possible to dggressurize the discharge line ard pap
heed without ramoval of tubing ar loosening of fittings.

Be sure injecticn check valve is properly installed ad is
qerating.  If a gate valve ar glae valve has baen
Installed downstrean of injection check valve, it shauld be
closed. Be azrtain relief tibing fran the far firctin
valve is aamected ad nn to soluticn resenvoir.

2 Pull m both anti-sychm and relief k.

3 The dischare lire is now dgaressurized.

4 If injection check valwe is of higher elevation then pop
head, disoomecting tubing at injection check valve exd
will allow air to enter and cause solution to drain beck to
tak.

S LMI

LIQUID METRONICS DIVISION

MILTON ROY

A unit of Sundstrand Corporation

8 Post Office Square
Acton, MA 01720 USA
TEL: (508) 263-9800
FAX: (508) 264-9172
http://www.Imipumps.com

o7
oA

zzzzzzzzzzzzzzzzzz

Replaces same of G 12/94
1396.H 2/97




KEY PART DESCRIPTION QUANTITY
NO. NO. LE-151S | LE-151SU | LE-152S | LE-152SU
1 27352 Flapper Valve, Flexoprene 1 1 1 1
2 10394 Injectar Fitting, Polypropylene 1 1
26841 Injector Fitting, PVDF 1 1
3 10339* Spring, PVDF 1 1 1 1
4 10338* Ball, Ceramic .375 4 4 4 4
5 29443* Seal Ring, Polyprel 4 4 4 4
6 28664 Valve Seat, Polypropylene .250 2 2
28882 Valve Seat, PVDF .250 2 2
8 10299 Coupling Nut 4 4 4 4
9 25636-16 Tubing, .250" O0.D. Polyethylene 1
25636-10 Tubing, .250" O0.D. Polyethylene 1 1
28636-16 Tubing, .250" O.D. U.V. Resistant PE 1
28636-10 Tubing, .250" O.D. U.V. Resistant PE 1
10 29608 Head, 0.5 SI GFR Polypropylene 1 1
29609 Head, 0.5 SI PVDF 1 1
11 10340 Screw, 10-24 x 3/4" SS 4 4 4 4
12 30916* Liquifram, 0.5 Fluorofilm 1 1 1 1
14 28665 Valve Housing, Polypropylene .250 1 1
28883 Valve Housing, PVDF .250 1
15 10978 Foot Valve Seat 1 1 1
16 10123 Strainer, Polypropylene 1 1 1 1
17 28001 Inj. Check/Back Pressure Valve Asm 1 1
28037 Inj. Check/Back Pressure Valve Asm 1 1
18 28010 Anti-Syphon/Pressure Relief Valve Asm 1
31693 Anti-Syphon/Pressure Relief Valve Asm 1
28046 Anti-Syphon/Pressure Relief Valve Asm 1
31694 Anti-Syphon/Pressure Relief Valve Asm 1
19 28004 Suction Valve Asm 1 1
28040 Suction Valve Asm 1 1
20 28002 Foot Valve Asm 1 1
28038 Foot Valve Asm 1 1
21 28071 Head Asm, LE-151S 1
31688 Head Asm, LE-151SU 1
28077 Head Asm, LE-152S 1
31687 Head Asm, LE-152SU 1
22 25837 Relief Cap Assenbly 1 1
27044 Relief Cap Assenbly 1 1
23 25838 Anti-Syphon Cap Assembly 1 1
27045 Anti-Syphon Cap Assembly 1 1
24 28703 Valve Body, Polypropylene .250 1 1
28704 Valve Body, PVDF .250 1 1
25 25627 Screw, 6-32 x 1 1/4" SS 4 4 4 4
26 25628 Nut, Hex 6-32 SS 4 4 4 4
27 25631 Coupling Nut 1 1 1 1
30 28663 Ferrule 4 4 4 4
NS 32293 Tubing Straightner Asm. 1 1 1 1

*Parts included in Spare Parts Kit SP-UB




%?NCLUDED IN
(29
- (21

I

@

1

96 D EEo-ED aﬂ% %%ﬁ |
®) P @ ® ®®0®

®©

16

are sealed by seal ring valve seats (ltem 5 on exploded

straight threads. Do not use Teflon tape. These joints
view)

Threaded connectins into pump head ar 3/4" -

Note:




I

> LMI

LIQUID METRONICS DIVISION

MILTON ROY

A unit of Sundstrand Corporation

8 Post Office Square
Acton, MA 01720 USA
TEL: (508) 263-9800
FAX: (508) 264-9172
http://www.lmipumps.com

© 1997 IMI Milton Roy — All Rights Reserved
Printed in USA




